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Question Number : 1 Question Id : 953357441979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The nature of relationship between development and learning is viewed by Lev Vygotsky as having which of the following characteristics?
Options :

1. It is linear in nature

2. The relationship is static in nature

3. Learning often precedes development

4. Development often precedes learning

Question Number : 1 Question Id : 953357441979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 953357441980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The developmental theorists who view process of development as having substantial plasticity throughout life are likely to emphasize the
importance of :

Options :

1. Heredity

2. Environment and experience
3. Domain specific intelligence
4. Crystallized intelligence

Question Number : 2 Question Id : 953357441980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 953357441981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Discontinuity’ in the developmental process refers to

Options :

1. New ways of understanding the world that emerge during the process of development.

2. Negative breaks in the developmental process.

3. A downward negative trend in development.

4. Interference in the developmental process

Question Number : 3 Question Id : 953357441981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 953357441982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Authoritative style of parenting / child rearing is based on:

Options :

1. Making decisions for the child

2. Not listing to a child’s point of view

3. Making unreasonable demands from the child

4. Engage in joint decision making wherever possible

Question Number : 4 Question Id : 953357441982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 5 Question Id : 953357441983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget, the process of developmental change takes place through which of the following specific cognitive functions :
Options :

1. Experience and social transmission

2. Assimilation and Accommodation

3. Maturation and Experience

4. Social transmission and maturation

Question Number : 5 Question Id : 953357441983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 953357441984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A 5 year old child was given 10 pebbles by her teacher. She put the pebbles in different formations e.g. a short line, a long line and a
circle. She counted these pebbles repeatedly. Which of the following cognitive schemas is she attempting to attain according to Jean
Piaget?

Options :

1. Seriation

2. Transitive inference

3. Nominal scale

4. Conservation of numbers

Question Number : 6 Question Id : 953357441984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 953357441985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Lev Vygotsky, the process of cognitive development is mediated by:

Options :

1. Cultural Tools

2. Cultural Modes

3. Cultural Signifiers

4. Cultural Derivatives

Question Number : 7 Question Id : 953357441985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 953357441986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Development in ‘Zone of Proximal Development’ according to Ler Vygotsky can be facilitated through:

Options :

1. Collaborative dialogues

2. Observational learning

3. Reversible thinking

4. Expository learning

Question Number : 8 Question Id : 953357441986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 953357441987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The stage 5 of post- conventional morality as given by Lawrence Kohlberg is marked by:

Options :

1. A free agreement to follow a social contract for the benefit of humanity

2. A free exploration of ethics even beyond social contract

3. Formulation of moral rules that bypass ethics

4. The need to appear to be ‘a good person’

Question Number : 9 Question Id : 953357441987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 953357441988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A progressive educator need to embody which of the following attributes within a classroom:

Options :

1. Empathy, control, care

2. Empathy, control, discipline

3. Empathy, realness, care

4. Empathy, realness, control

Question Number : 10 Question Id : 953357441988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 953357441989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following are major concerns about using the concept of Intelligence Quotient to measure Children’s intelligence?

(i) Instability of Score
(i) Cultural bias in tests
(iii) Product —orientedness of tests

(iv) Labelling of children
Options :
1. i, iii, iv
2.1, ii, iii, iv
3. L1, iv
4.1, iii, iv
Question Number : 11 Question Id : 953357441989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 953357441990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An experience of intra- personal intelligence within a classroom according to Howard Gardner refers to:

Options :

1. Ability to handle social situations well

2. Ability to understand meaning and rhythms of others’ speech

3. Knowledge of one’s own complex feelings, strengths and weaknesses

4. Appreciation of aesthetics and beauty.

Question Number : 12 Question Id : 953357441990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 953357441991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The role of a teacher within the classroom is to encourage children to express which of the following attitudes related to gender?
Options :

1. Gender typing

2. Gender constancy

3. Adopt socially acceptable gender roles

4. Gender - stereotype flexibility

Question Number : 13 Question Id : 953357441991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 953357441992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a classroom where students have diverse learning profiles, a teacher needs to :

Options :

1. Identify normative level of teaching

2. Find creative ways of engaging with diverse learning pace of students

3. Create special achievement and remedial sections

4. Do ability groupings within classroom

Question Number : 14 Question Id : 953357441992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 953357441993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Formative assessment is generally used:

Options :

1. To provide teachers with a rational basis for preparing tests /exam papers

2. To help teachers plan better and provide supportive, non —evaluative feedback to students

3. To help students develop good test taking skills

4. To discriminate appropriately between ability levels of students

Question Number : 15 Question Id : 953357441993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 953357441994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Multi-cultural Education is aimed at:

Options :

1. Educational equality for children form different cultures within a classroom.

2. Educational equality for children form different cultures within a classroom

3. Showcasing dances / music of different cultures on specific occasions like annual day of school

4. Creating special sections in schools for children belonging to different cultures.

Question Number : 16 Question Id : 953357441994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :
| TSR T S-S SR o e bl S (27

, T FT T ST STRT TR o a1 o W e

TN T TG ST U S-S el ST S AT S Al

TSR T o =il o o] SFet o STTT-STer TS S

Question Number : 17 Question Id : 953357441995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The education of learners from 'disadvantaged' and 'deprived' backgrounds can get negatively influenced by which of the following

(i) Stereotypes
(i1) Lack of understanding of Local Knowledge Systems
(iii) Top —down curriculum

(iv) Curriculum based on local culture and language
Options :

1. (i) and (ii)

2. (1), (ii), and (iii)

3. (i), (i1), (iv)

4. (1), (i1), (iii), (iv)

Question Number : 17 Question Id : 953357441995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 953357441996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Creative thinking is not facilitated by which of the following:

Options :

1. Originality

2. Tolerance of ambiguity

3. Convergent thinking

4. Flexibility in thinking

Question Number : 18 Question Id : 953357441996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 953357441997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A child with locomotion disability joins a primary school. Which of the following would net be a facilitative strategy for inclusion of the
child within school?

Options :

1. Provision of allocating class on the ground floor
2. Empathy- building among peers

3. Appropriate infrastructural modifications

4. Showing sympathy for the lack of ability

Question Number : 19 Question Id : 953357441997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 953357441998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which if the following strategies would not be facilitative with respect to children with specific hearing disabilities within regular
schools?

Options :

1. Relaxation in specific domains of learning, wherever possible
2. Reasonable accommodation in curriculum

3. Continual negative comments on errors committed

4. Individualized educational planning

Question Number : 20 Question Id : 953357441998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 953357441999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

" Success" in schools should be broadened beyond specific academic achievement within school to include:

Options :

1. Training given by coaching institutions

2. Development of socio — emotional capacities as an important part of education.

3. Extra tests which can be done at home

4. Constant focus only on areas where a child is ‘weak’

Question Number : 21 Question Id : 953357441999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 953357442000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Conceptual clarity can be said to have been achieved when a student can:

Options :

1. Recall information given correctly

2. write down information correctly

3. Clearly remember the definition of a concept

4. Apply concepts learnt to real life situations

Question Number : 22 Question Id : 953357442000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 953357442001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To enable children to become effective problem —solvers it is critical that they are given opportunities to :

Options :

1. Do experiments only in the format prescribed in the textbook

2. Discover a concept through independent thinking

3. Take extra tuitions wherever necessary

4. Learn primarily through audio —visual aids and smart boards only

Question Number : 23 Question Id : 953357442001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 953357442002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The errors that children make during the learning process can be:

Options :

1. Used to ascertain their current ability and intelligence.

2. Rectified immediately without feedback so that they are not repeated

3. Seen as normal and acceptable part of cognitive development

4. A distraction in the learning process and should be minimized quickly

Question Number : 24 Question Id : 953357442002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 953357442003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the role of children's emotions in learning?

Options :

1. Emotions distract children from learning and therefore need to be controlled

2. There needs to be a clear disconnect between cognition and emotions of children for effective learning

3. Emotions give meaning to learning experiences and need to be integrated within learning process

4. Emotions make learning process ‘messy’ and unpredictable.

Question Number : 25 Question Id : 953357442003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 953357442004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Children can be encouraged to become intrinsically motivated learners by:

Options :

1. giving rewards for encouragement

2. punishing them to avoid making mistakes

3. learning form the mistakes made during learning process without any negative penalty

4. encouraging teacher attention to performance by special achievers within a classroom

Question Number : 26 Question Id : 953357442004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T SATAF T F SR STRRTHRAT 57 3 1517 378 978 TieaTied fhar =T 55 22

Options :
| Bt e 3 o 3 3

) At F T 30T T
. AT TToRaT 3 S 1 TS AT & Srgw, Tom R T 2T % = o

, Terferert 2T e = w@Te SUSATed AT TenteE W T A ae

Question Number : 27 Question Id : 953357442005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following characteristics are there in “master oriented learners’?

Options :

1. Low fear of failure, incremental view of ability

2. High fear of failure, entity view of ability

3. Low fear of failure, entity view of ability

4. High fear of failure, incremental view of ability

Question Number : 27 Question Id : 953357442005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 953357442006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Which of the following is a hindrance in effective problem-solving?
Options :

1. Activating the right schema

2. Response set

3. Identification of the real problem

4. Application of heuristics or general problem solving strategies

Question Number : 28 Question Id : 953357442006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 953357442007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Encouraging students to compete among themselves in the classroom can have the following consequences. Which of these would you
perceive to be harmful for a child’s growth?

(1) It creates ‘winners’ and ‘losers’ within a classroom
(i) It increases the stress and anxiety level of students hampering their cognitive growth
(iii) It can create ‘star’ students within a classroom whose achievement can be source of pride for schools

(iv) Tt can prepare students to fit into the competitive, market based economics.

Options :

1. (1), (ii)

2. (1), (1), (iv)

3. (1), (i), (iii), (iv)

4. (ii), (iii), (iv)

Question Number : 29 Question Id : 953357442007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 953357442008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The process of meaningful learning needs to be mediated by:

Options :

1. Personal philosophy and perspective of the learner

2. The knowledge ‘received’ by the learner from the teacher

3. The requirements of the curriculum geared towards summative assessment

4. Based primarily on views of expert

Question Number : 30 Question Id : 953357442008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TV g S TSR o | e e 2
Options :

| Tormeff = Fsft aeferrer vl g &

, Terentian gm forferem & <o 79 2]

, SoHTeTd TR o for o1 1S T f |

FHaer TorSTai AT T/ 3TN 3 TR W

4

Social Studies or Social Science
Section Id : 95335714028
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 95335725436
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 953357442009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher has turned some students of the class into small human replica of the solar system. If Shyam, Sultana and Nancy has almost
equal height and weight, then they are representing.

Options :
1. Mars, Venus and Mercury
2. Sun, Moon and Earth



3. Mars, Jupiter and Uranus
4. Mercury, Jupiter and Saturn

Question Number : 31 Question Id : 953357442009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 953357442010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the statements A and B on the circle of illumination on the globe and choose the correct answer.

(A) It divides the day from night on the globe.

(B) It coincides with the axis.
Options :

1. A is true, B is false

2. A is false, B is true

3. Both A and B are true

4. Both A and B are false

Question Number : 32 Question Id : 953357442010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 953357442011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the Atlantic ocean is correct?

Options :

1. It is the largest ocean in the world

2. It is almost circular in shape, surrounded by Asia, Australia, North and South America
3. Its coastline is highly indented and irregular

4. Mariana Trench lies in this ocean

Question Number : 33 Question Id : 953357442011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 953357442012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Conventional symbols used in a map are

Options :

1. symbols used by a particular society in a region.

2. symbols through which only geomorphological features are represented.

3. symbols through which only political boundaries and administrative divisions are represented.

4. symbols on which there is an international agreement regarding their use.

Question Number : 34 Question Id : 953357442012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 953357442013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Consider the statements (A)and (B) on high tides and choose the correct option.

(A) They raise the water level close to shores which helps the ships to arrive at the harbour.



(B) They create problems for fishermen as fishes move away from the shore during high tide.
Options :

1. Both A and B are true.

2. Both A and B are false.

3. A is true, B is false

4. A is false, B is true.

Question Number : 35 Question Id : 953357442013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 953357442014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements about air pressure is correct?

Options :

1. Air always moves from low pressure areas to high pressure areas.

2. When in regions with high temperature air gets heated and sinks, high pressure area is created

3. Low pressure area is created in regions with lower temperatures, cold air becomes heavy and rises

4. Low pressure is associated with cloudy skies and wet weather high pressure is associated with clear and sunny skies

Question Number : 36 Question Id : 953357442014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 37 Question Id : 953357442015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Bromeliads found in Amazon basin are:
Options :

1. The staple food of the people in the basin
2. A species of insects

3. Plants that store water in their leaves

4. Houses with a steeply slanting roof

Question Number : 37 Question Id : 953357442015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 953357442016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Stacks' are an erosional feature of which of the following?

Options :

1. Wind

2. Glacier

3. Sea wave

4. River

Question Number : 38 Question Id : 953357442016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 39 Question Id : 953357442017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Consider the statements A and B about '"Tsunami waves and choose the correct answer.
(A) Volcanic eruption can never lead to the formation of Tsunami waves.

(B) The first indication of an approaching Tsunami is the rapid withdrawal of water from coastal region followed by a destructive wave.
Options :
1. A is true, B is false



2. A is false, B is true
3. Both A and B are true
4. Both A and B are false

Question Number : 39 Question Id : 953357442017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 953357442018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Identify the layer of atmosphere from the features given below.

(A) The temperature rises very rapidly with increasing height in this layer.

(B) This layer helps in radio transmission.
Options :

1. Stratosphere

2. Mesosphere

3. Thermosphere

4. Exosphere

Question Number : 40 Question Id : 953357442018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 41 Question Id : 953357442019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Which among the following should be incorporated in the principles of sustainable development?

(A) Conserve the earth's vitality and diversity
(B) change in personal attitude and practices towards the environment
(C) Stop the utilization of natural resources.

(D) Improve the quality of human life.
Options :

1.A,B,Cand D

2.A.Band C

3.B,Cand D

4. A,Band D

Question Number : 41 Question Id : 953357442019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 953357442020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements about minerals are correct?

(A) Minerals are created by natural processes without any human interference
(B) Mica and chromite are nonferrous minerals
(C) Minerals lying at shallow depths are taken out through open cast mining

(D) Minerals are a non-renewable resource
Options :

1.A,Band C

2.B,Cand D

3.A,Band D

4. A,Cand D

Question Number : 42 Question Id : 953357442020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 953357442021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Match the factors affecting soil formation

(a) Flora, fauna and micro organism (i) Texture and colour of soil
(b) Parent rock (ii) rate of humus formation in the soil
(c) Climate (iii) Thickness of soil profile

(d) Time (iv) Weathering
Options :

1. a-ii, b-i, c-iv, d-iii

2. a-iii, b-ii, c-iv, d-i

3. a-i, b-ii, c-iv, d-iii

4. a-ii, b-i, c-iii, d-iv

Question Number : 43 Question Id : 953357442021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 953357442022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What are the advantageous aspects of natural gas as a conventional source of energy?
(A) It is easier to transport through pipe lines.

(B) It is cleaner than oil and coal.

(C) It is distributed evenly across the globe.

Options :
1.A,Band C
2.Aand B
3.Aand C
4.Band C

Question Number : 44 Question Id : 953357442022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 953357442023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Upanishads are:-

(A) conversations between teachers and students.
(B) presented through simple dialogues.
(C) ideas that describe about individual soul and universal soul.

Choose the correct option.
Options :

1. Only A and B are correct
2. only B and C are correct
3. only A and C are correct
4. A,B and C are correct

Question Number : 45 Question Id : 953357442023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 953357442024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To study and differentiate the skeletal remains of a man from a woman, we must rely on:

Options :

1. Jewellery worn as they indicate a woman.

2. bone structure as a larger hip indicates a woman.

3. bone structure as a larger hip indicates a man.

4. weapons buried alongside as they indicate a man.

Question Number : 46 Question Id : 953357442024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 953357442025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

According to Akbar Nama Subadar undertook

Options :

1. political and military functions.

2. political and financial functions;

3. only political function.

4. only religious functions.



Question Number : 47 Question Id : 953357442025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 953357442026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Bengali as a regional language grew due to:-

(A) commercial ties
(B) political control

Choose the correct option.
Options :

1. A only

2. B only

3.Both A and B

4. Neither A nor B

Question Number : 48 Question Id : 953357442026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 953357442027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The saint - poets of Maharashtra rejected:-

(A) all forms of ritualism.
(B) social differences based on birth.



(C) idea of staying with families.

Choose the correct option.
Options :

1. A and B are correct

2. A and C are correct

3. B and C are correct

4. A,B and C are correct

Question Number : 49 Question Id : 953357442027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 953357442028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In the 19th century, which of the tribal groups mainly herded goats?
Options :

1. Van Gujjars of the Punjab Hills

2. Lambadis of Andhra Pradesh

3. Bakarmals of Kashmir

4. Gaddis of Kulu

Question Number : 50 Question Id : 953357442028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 953357442029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Match the reformers with the movements:

(A) Ghasidas (i) self-respect movement

(B) Periyar (ii) young Bengal movement
(C) Derojio (iii) Satnami movement

(D) Ambedkar (iv) Temple Entry Movement

Choose the correct option.
Options :

1. a-iii, b-iv, c-ii, d-i

2. a-iii, b-i, c-ii, d-iv

3. a-iv, b-iii, c-ii, d-i

4. a-i, b-iii, ,c-ii, d-iv

Question Number : 51 Question Id : 953357442029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 953357442030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Most modern Indian scripts have developed from:

Options :

1. Brahmi

2. Bengali

3. Tamil

4. Devanagari

Question Number : 52 Question Id : 953357442030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Options :
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Question Number : 53 Question Id : 953357442031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement: (A) : Ostriches were found in India during the Palaeolithic period.
Statement (B) : Large quantities of ostrich egg shells with engravings have been found in Maharashtra.

Choose the correct option.
Options :

1. (A) is true but (B) is false.
2. Both (A) and (B) are true.
3. Both (A) and (B) are false.
4. (A) is false, but (B) is true.

Question Number : 53 Question Id : 953357442031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 953357442032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Match the country to their colony:-

(A) France (i) Jamaica
(B) Portugal (ii) St. Dominique

(C) England (iii) Venezuela
(D) Spain (iv) Brazil
Choose the correct option.
Options :

1. A-iii, B-i, C-iv, D-ii

2. A-ii, B-iv, C-i, D-iii

3. A-iv, B-iii, C-ii, D-i



4. A-i, B-iv, C-ii, A-iii

Question Number : 54 Question Id : 953357442032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 953357442033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Imperial historical paintings

(A) created a public memory of imperial triumphs.
(B) portrayed British as invincible and all powerful.
(C) become widely popular in Europe.

(D) portrayed India in all its authenticity

Choose the correct option.
Options :

1. A and B are correct

2. A,B and C are correct
3. Only B is correct

4. B and C are correct

Question Number : 55 Question Id : 953357442033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 953357442034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the statements about Ain-i-Akbari.

(A) It is the second volume of the Akbar Nama

(B) It records the events of Akbar's reign.

(C) It records about the traditions and culture of the people.
(D) It provides statistical data about many things.

Choose the correct option.
Options :

1. A and C are correct

2. B and C are correct

3. C and D are correct

4. Only C is correct

Question Number : 56 Question Id : 953357442034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 953357442035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The earliest miniature paintings were done on

(A) pot



(B) palm leaf

(C) paper
(D) wood

Choose the correct option.
Options :

1. A,B and C are correct
2. A,B and D are correct
3. A,C and D are correct
4. B,C and D are correct

Question Number : 57 Question Id : 953357442035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 953357442036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Seven hundred years ago, which of the following travellers had written about Kerala's diversity and the lives of Muslim community?
Options :

1. Vaco da Gama

2. Ibn Batuta

3. St. Martin

4. Shankaracharya

Question Number : 58 Question Id : 953357442036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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4, SRS

Question Number : 59 Question Id : 953357442037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following kinds of equality is mentioned in the Preamble to the Indian Constitution?

Options :

1. Equality of income

2. equality of wealth

3. equality of employment

4. equality of status

Question Number : 59 Question Id : 953357442037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 953357442038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about municipal corporation in India?

Options :

1. Ward commissioner is an elected position

2. Ward councillor is an elected member

3. Ward councillor elect the ward commissioner

4. Administrative staff elect the ward commissioner

Question Number : 60 Question Id : 953357442038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 61 Question Id : 953357442039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In order to promote women employment, there are laws in India that make it mandatory for an organization having more than 30 women
employees, to ensure

Options :

1. creche

2. sanitary pad vending machine
3. women chairperson

4. transport

Question Number : 61 Question Id : 953357442039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 953357442040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rosa Parks refused to give up her seat in a bus from the beginning point of which particular movement in the USA?

Options :

1. Gender Right Movement

2. Equal Access to Public Space Movement

3. Civil Rights Movement

4. White Women Justice Movement

Question Number : 62 Question Id : 953357442040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 953357442041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What is implied by 'setting agenda' in the context of media?
Options :

1. Agenda of the media that will be conserved by the government.
2. Media propagating the agenda of a political party.

3. An independent media house having no pre-decided agenda.

4. Media identifying issues and bringing them to the Public

Question Number : 63 Question Id : 953357442041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 953357442042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is true about secularism in India?

(A) Neither state nor religion can interface in the affairs of one another.
(B) Indian state must maintain a principled distance from religion.
(C) State cannot intervene in the personal laws of communities.

(D) State is supposed prevent domination of one religious community by another community.
Options :

l1.Aand B

2.Band C

3.Band D

4.AandD

Question Number : 64 Question Id : 953357442042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 953357442043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The Indian parliament had reservation from 1952 - 2019 for which of the following?
A) Scheduled Castes

B) Anglo-Indian Community
C) Women

D) Scheduled Tribes
Options :

1. A,B,C

2.B,C,D

3.A,B,D

4.A,C,D

Question Number : 65 Question Id : 953357442043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 66 Question Id : 953357442044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Federal court of India is the predecessor of

Options :

1. Supreme Court of India

2. Bombay High Court

3. Delhi High Court

4. International Court

Question Number : 66 Question Id : 953357442044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 953357442045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Article 39A of the Indian Constitution places a duty on the state to provide to citizens.

Options :

1. reservation of seats in public universities

2. legal aid

3. public distribution system

4. access to places of religious worship

Question Number : 67 Question Id : 953357442045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 953357442046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Justice Rajindar Sachar committee in 2005, examined the economic and social mitralisation of which community?

Options :

1. Sikhs

2. Parsis

3. Muslims

4. Christians

Question Number : 68 Question Id : 953357442046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 953357442047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

What is the implied by putting -out system in the context of cloth industry in India?

Options :

1. merchant supplying raw material to the weaver and receiving finished product from him/her

2. weaver directly taking order from the consumer and supplying the finished product to him or her

3. merchant sell cloths to garment factories through weavers and receiving commission from them

4. weaver selling directly to garment factories

Question Number : 69 Question Id : 953357442047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 953357442048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The change in the system in South Africa in 1994 led to the formation of which kind of government?

Options :

1. Apartheid government

2. Minority government

3. Monarchical government

4. Democratic government

Question Number : 70 Question Id : 953357442048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 71 Question Id : 953357442049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Why do social science pedagogues no longer use the word 'civics' while teaching at the upper primary level?

(A) civics grew out of a certain colonial past and hence required to be changed.
(B) It developed a critical outlook.
(C) It only described government institutions and programmes.

(D) It limited the scope of this subject.
Options :

1. A and B only.

2. A and C only.

3. A, Cand D only.

4.B, Cand D only.

Question Number : 71 Question Id : 953357442049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 72 Question Id : 953357442050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The best effective strategy to generate historical imagination on the theme 'mosque' would be to__

Options :

1. narrate an anecdote around mosque.

2. invite a resource person.

3. organise a visit to a local mosque.

4. screen a documentary film.

Question Number : 72 Question Id : 953357442050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 953357442051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Maps, coins and time-lines are most suitable for teaching

Options :

1. Economics

2. Political and Social life

3. History

4. Sociology

Question Number : 73 Question Id : 953357442051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 953357442052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following does not represent a primary source?

(A) Collection of daily weather records.
(B) Review of Economic Survey of India.
(C) Registration of births and deaths.

(D) Replicas of dancing girl of Harappa.

Select the correct option.
Options :

1. A and B only

2. A and C only

3. Only D.



4. Only A,B and C.

Question Number : 74 Question Id : 953357442052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 953357442053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks :

In social science teaching, 'community' can be an important resource as __

Options :

1. it is inexpensive and accessible

2. the older people are wise and have time

3. community knowledge can be accepted uncritically

4. it provides opportunity to learn in real settings.

Question Number : 75 Question Id : 953357442053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 953357442054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Statement A: The term 'Hindustan' was used by Minjhaj-e-Siraj which included parts of North India but did not include North-East India.



Statement B : History pedagogues have to be careful about the terms they use today because they meant different things in the past.
Options :

1. (A) is true but (B) is false.

2. (A) is false but (B) is true

3. Both (A) and (B) are true and (B) is the correct explanation of (A)

4. Both (A) and (B) are true but (B) is not the correct explanation of (A).

Question Number : 76 Question Id : 953357442054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 953357442055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement (A) : Children should be taught 'social and political life' in the form of fictional narratives or case studies or exercises that draw
on child's experiences.

Statement (B) : Children learn through concept experiences.

Options :

1. (A) is true but (B) is false;

2. (A) is false but (B) is true

3. Both (A) and (B) are true and (B) is the correct explanation of (A).

4. Both (A) and (B) are true but (B) is not the correct explanation of (A)

Question Number : 77 Question Id : 953357442055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 953357442056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Statement (A): History is myth

Statement (B) History is based on interpretation of sources.

Options :

1. (A) is true but (B) is false.

2. (A) is false but (B) is true.

3. Both (A) and (B) are true and (B) is the correct explanation of (A).

4. Both (A) and (B) are true but (B) is not the correct explanation of (A).

Question Number : 78 Question Id : 953357442056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 953357442057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement (A): The syllabus of social science has scope for getting expanded.
Statement (B): Children bring in a lot of what happens in the outside world to the classroom.

Options :

1. (A) is true but (B) is false;

2. (A) is false but (B) is true

3. Both (A) and (B) are true and (B) is the correct explanation of (A).

4. Both (A) and (B) are true but (B) is not the correct explanation of (A).

Question Number : 79 Question Id : 953357442057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 953357442058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In a class if a teacher fixes people of a particular region into one image, the teacher is promoting

Options :

1. diversity

2. stereotype

3. multiculturalism

4. secularism

Question Number : 80 Question Id : 953357442058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 953357442059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
The pedagogical process in social science emphasise on an epistemology, where textbooks are;

(A) suggestive of a particular way of understanding issues.
(B) developed as a 'closed box'
(C) have a 'mainstream' account of the past.

(D) developed as a dynamic document.
Options :

1. A and C only

2. A and D only.

3. B and C only.

4. B,C and D only.

Question Number : 81 Question Id : 953357442059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 953357442060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which discussing the theme on 'sources' a social science teacher may make the learners more

(A) avoiding linkages with lives of the learners.
(B) motivating to read more on sources.
(C) discouraging to make their own interpretation.

(D) raising questions and adding to the body of information.
Options :

1. A and B only.

2. B and C only.

3. B and D only.

4. Cand D only.

Question Number : 82 Question Id : 953357442060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 953357442061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How can social science teachers deal with children who are inattentive in the classroom?
(A) Make them busy by asking to learn more dates and facts.

(B) Talk to them and find out reasons for their disinterest.

(C) encourage them to share their experience around the theme under discussion

(D) give them a lot of tough worksheets as homework.

Options :

1. A and B only.
2. A,C and D only.
3. A and D only.
4. B and C only.

Question Number : 83 Question Id : 953357442061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 953357442062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Complete the sentence with the most appreciate option.
The role of a social science teacher should be to

Options :

1. encourage all learners to frame questions of high cognitive abilities.
2. provide rich variety of learning experiences to learners.

3. provide product based teaching-learning environment to learners.

4. guide learners to practice the memorisation of creative ideas.

Question Number : 84 Question Id : 953357442062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 953357442063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Contemporary understanding of social science pedagogy encourages teachers to do all of the following except:

Options :

1. maintain status quo.

2. create opportunities to guess and verify with the help of sources.

3. develop the skill of systematic reasoning in students.

4. Present history as a process.

Question Number : 85 Question Id : 953357442063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 953357442064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Statement (A) : A social science teacher should avoid discussing controversial issues in upper primary classes.
Statement(B): Controversies occur as 'sources' in history do not speak on their own.

Options :

1. (A) is true but (B) is false;

2. (A) is false but (B) is true

3. Both (A) and (B) are true and (B) is the correct explanation of (A).

4. Both (A) and (B) are true but there is no realtionship between the two statements.

Question Number : 86 Question Id : 953357442064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 953357442065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A sense of 'times' and ' space' can be developed by using:

Options :

1. Only maps.

2. Only timelines.

3. Maps and timelines only.

4. globe and maps.

Question Number : 87 Question Id : 953357442065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 953357442066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

You are a social science teacher in Bhopal. To familiarise your students with the habitat of pre-historic people, which would be the best
pedagogical strategy?

Options :

1. Visit to Bhimbetaka.

2. Reading from a text of Madhya Pradesh Tourism Department and discussion.
3. Inviting an expert from Delhi for a lecture.

4. Visit to an archives.

Question Number : 88 Question Id : 953357442066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 953357442067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following can be used as pedagogic aids to understand the Partition of India?

(A) Black and Red pottery found in Punjab.
(B) Narratives

(C) Images

(D) Punch marked coins

Options :

1. A and B only.

2. A and D only.

3. B and C only.
4. B and D only.

Question Number : 89 Question Id : 953357442067 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 90 Question Id : 953357442068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A social science teacher should aim towards:

(A) Building perspective on our pasts.

(B) memorisation of dates correctly.

(C) glorifying our fast.

(D) pointing out only conflicts between communities

Options :

1. Only A.



2. Only B.
3. Only A and B.
4. Only A, C, and D.

Question Number : 90 Question Id : 953357442068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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There are no secrets in science. One can do and know all that a scientist does and knows.
Cne does not need to have any faith in him as an individual and accept what he says without
guestioning it. The only thing a scientist asks of one is to base ones characterizas a child on
whom society has not yet imposed its beliefs and prejudices, In fact, science is nothing more
than questions asked and questions answered, and the method of science, no more than a
method od asking questions and answering them, a method that “works” and can be used
to solve problems that one faces in everyday lifa.

Science is indeed, far more than just physics, chemistry, biclogy, astronomy and
mathematics. It is a question of ideas and a way of thinking. It is a culture and a philosophy
of life, a philosophy which allows us to purpose truth without any prejudgement. What,
then, is this attitude of mind, this culture and this philosophy of life? It turns out that all
these — and other — concomitants and attributes of science emanate primarily from the
method that science uses to acquire knowledge. Certain characteristics of this method,
which we call “The method of science”, and of knowledge gained by the application of this
method, create a value system within their framework, a value system which is rational and
reasonable , which appeals to commaon sense, which is commensurate with knowledge and,
above all which has a build-in corrective. It, therefore, becomes especially important to
understand the basis of the method of science, and at the value system of science, so that
we may understand the culture. One does not need to have any faith in him as an individual
and accept what he says without guestioning it

Sub questions

Question Number : 91 Question Id : 953357442070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

Correct Marks : 1 Wrong Marks : 0

Read the following sentences —
(A) An individual should not have any faith in a scientist.
(B) A scientist desires questioning based on simple reasoning.

Ajs false B is true

Ais true B is false

Both A and B are true
4. Both A and B are false

Options :

1.1

2.2

3.3

4.4

el e

No

Question Number : 92 Question Id : 953357442071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What type of reason is NOT highly required in a scientific enguiry?
1. Untempered
2. Uninhibited
3. One free from any previous belief
4. That of a highly educated and prejudiced mind
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357442072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Study the following statements
{A) Scientific method means asking questions and speaking their
answers
(B) Everyday problems of life may not be solved by the scientific
method

(1) (A) is right and (B) is wrong
(2)(B) is right and (A) is wrong
(3) Both (A) and (B) are right
{4) Both (A) and (B) are wrong

Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 953357442073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Science , according to the author is more than
1. a philosophy of life
2. disciplines of knowledge
3. guestions of ideas
4. away of thinking
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357442074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is not a true statement?
(1) Rationality is an important basis of scientific method
(2) Value system is based on reasoning and appeals to one’s common
sense
(3) The attitude of mind cannot be understood by methods of science
(4) Understanding philosophy of life is essence of science
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357442075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is attributed to the underlined words in the

following sentence?

“What then is this attitude of mind , this culture and this philosophy of
life”

1. Adverb

2. Adjective

3. Pronoun

4. Article



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357442076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Choose the word which means the same as “untempered” as used in the
given passage
1. llI- tempered
2. Unwanted
3. Logical
4. lrrational
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357442077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Most appropriate antonym of the word “prejudiced” is —
1. deferential
2. indifferent
3. detrimental
4. preconceived
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357442078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of the given sentence shows an error ?

“The methods of science are no more than a method

(A) (B)
of asking questions and answering”
(C) (D)
1A
2. B
3. C
4. D
Options :
1.1
2.2
3.3
4.4

Question Id : 953357442069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (91 to 99)



Question Label : Comprehension

There are no secrets in science. One can do and know all that a scientist does and knows.
One does not need to have any faith in him as an individual and accept what he says without
guestioning it. The only thing a scientist asks of one is to base ones characterizas a child on
whom society has not yet imposed its beliefs and prejudices, In fact, science is nothing more
than questions asked and questions answered, and the method of science, no more than a
method od asking questions and answering them, a method that “works” and can be used
to solve problems that one faces in everyday life.

Science is indeed, far more than just physics, chemistry, biology, astronomy and
mathematics. It is a question of ideas and a way of thinking. It is a culture and a philosophy
of life, a philosophy which allows us to purpose truth without any prejudgement. What,
then, is this attitude of mind, this culture and this philosophy of life? It turns out that all
these — and other — concomitants and attributes of science emanate primarily from the
method that science uses to acquire knowledge. Certain characteristics of this method,
which we call “The method of science”, and of knowledge gained by the application of this
method, create a value system within their framework, a value system which is rational and
reasonable , which appeals to commaon sense, which is commensurate with knowledge and,
above all which has a build-in corrective. It, therefore, becomes especially important to
understand the basis of the method of science, and at the value system of science, so that
we may understand the culture. One does not need to have any faith in him as an individual
and accept what he says without guestioning it

Sub questions

Question Number : 91 Question Id : 953357442070 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Read the following sentences —

(A) An individual should not have any faith in a scientist.

(B) A scientist desires questioning based on simple reasoning.

Ais false B is true

Ais true B is false

Both A and B are true
4. Both A and B are false

Options :

1.1

2.2

3.3

4.4

bl e

Question Number : 92 Question Id : 953357442071 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
What type of reason is NOT highly required in a scientific enquiry?
1. Untempered
2. Uninhibited
3. One free from any previous belief
4. That of a highly educated and prejudiced mind
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 953357442072 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Study the following statements
{A) Scientific method means asking questions and speaking their
answers
(B) Everyday problems of life may not be solved by the scientific
method

(1) (A) is right and (B) is wrong
(2)(B) is right and (A) is wrong
(3) Both (A) and (B) are right
{4) Both (A) and (B) are wrong

Options :

1.1

2.2

3.3

4.4

Question Number : 94 Question Id : 953357442073 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Science , according to the author is more than
1. a philosophy of life
2. disciplines of knowledge
3. guestions of ideas
4. away of thinking
Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 953357442074 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is not a true statement?
(1) Rationality is an important basis of scientific method
(2) Value system is based on reasoning and appeals to one’s common
sense
(3) The attitude of mind cannot be understood by methods of science
(4) Understanding philosophy of life is essence of science
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 953357442075 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of speech is attributed to the underlined words in the

following sentence?

“What then is this attitude of mind , this culture and this philosophy of
life”

1. Adverb

2. Adjective

3. Pronoun

4. Article



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 953357442076 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Choose the word which means the same as “untempered” as used in the
given passage
1. llI- tempered
2. Unwanted
3. Logical
4. Irrational
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 953357442077 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Most appropriate antonym of the word “prejudiced” is —
1. deferential
2. indifferent
3. detrimental
4. preconceived
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 953357442078 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which part of the given sentence shows an error ?
“The methods of science are no more than a method
(A) (B)

of asking questions and answering”

(C) (D)

1
2.
3

o N W=

4,
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 95335725438
Question Shuffling Allowed : Yes



Question Id : 953357442079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension
Read the stanza given below and answer the guestions/complete the
statements that follow with the help of given options.

My mistress bent that brow of hers;

Those deep dark eyes where pride demurs
When pity would be softening though,
Fixed me a breathing while or twos

With life or death in the balance right |
The blood replenished me again;

My last thought was at least not vain :

[ and my mistress, side by side

Shall be together , breathe and ride,

50, one day more am | deified,

Who knows next but the world may end to-night?

Sub questions

Question Number : 100 Question Id : 953357442080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

{a) The lover’s fate hangs in balance

{b) The beloved is easily persuaded

(c) Her pride stands in the way of her lover’s success

(d) There is a conflict between pride and pity

. (a) and (b) are both correct
. (b) and (c) are both correct
(c) and (d) are both correct
. {a) and (b) are both wrong
Options :

1.1

2.2

3.3

4.4

[SER

.

Question Number : 101 Question Id : 953357442081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. The poetis a dejected lover

2. He loses heart very soon

3. He knows that ultimately he will win her love
4. His request is a matter of life and death for him
Options :

1.1
2.2

3.3
4.4

Question Number : 102 Question Id : 953357442082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



What was the poet’s last thought?
1. his request for a ride together
2. that his beloved would accept his love
3. that she would raise her beautiful brow
4. that his breathing would start again

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 953357442083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘am | deified’ the figure of speech used in the expressions is

1. Simile

2. Metaphor

3. Personification
4. Imagery

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357442084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘with life and death in the balance’ the figure of speech |

the expression is

1. Simile
2. Metaphor
3. Hyperbole
4. Personification
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357442085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements :

(a) At the end the lover feels that he is in Heaven.
(b) At least his one request has been granted.

(a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

e

e

Options :
1.1
2.2



3.3
4.4

Question Id : 953357442079 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (100 to 105)

Question Label : Comprehension
Read the stanza given below and answer the questions/complete the
statements that follow with the help of given options.

My mistress bent that brow of hers;

Those deep dark eyes where pride demurs
When pity would be softening though,
Fixed me a breathing while or twos

With life or death in the balance right |
The blood replenished me again;

My last thought was at least not vain :

| and my mistress, side by side

Shall be together, breathe and ride,

So, one day more am | deified,

Who knows next but the world may end to-night?

Sub questions

Question Number : 100 Question Id : 953357442080 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Study the following statements :

{a) The lover’s fate hangs in balance

(b) The beloved is easily persuaded

{c) Her pride stands in the way of her lover’s success

(d) There is a conflict between pride and pity

. {a) and (b) are both correct
. (b) and (c) are both correct
(c) and (d) are both correct
(a) and (b) are both wrong

W or e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 953357442081 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. The poet is a dejected lover

2. He loses heart very soon

3. He knows that ultimately he will win her love
4. His request is a matter of life and death for him
Options :

1.1

2.2

3.3

4.4

Question Number : 102 Question Id : 953357442082 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

What was the poet’s last thought?
1. his request for a ride together
2. that his beloved would accept his love
3. that she would raise her beautiful brow
4. that his breathing would start again

Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 953357442083 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘am | deified’ the figure of speech used in the expressions is

1. Simile

2. Metaphor

3. Personification
4. Imagery

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 953357442084 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘with life and death in the balance’ the figure of speech |

the expression is

1. Simile
2. Metaphor
3. Hyperbole
4. Personification
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 953357442085 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Study the following statements :

(a) At the end the lover feels that he is in Heaven.
(b) At least his one request has been granted.

{a) is right and (b) is wrong
(b) is right and (a) is wrong
Both (a) and (b) are right

Both (a) and (b) are wrong

ol

e

Options :
1.1



2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335725439
Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 953357442086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language is
1. system of structures
2. communication system
3. a rule governed system
4, a scientific system

Options :

1.1

2.2

3.3

4.4

Question Number : 106 Question Id : 953357442086 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Language is
1. system of structures
2. communication system
3k a rule governed system
4, a scientific system

Options :

1.1

2.2

3.3

4.4

Question Number : 107 Question Id : 953357442087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher does actions which learners follow as directed and learners are not expected speak or produce language. What is this method
known as?

1. Imitation method

2. Total Physical Response

3. Dramatics
4. Communicative approach
Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 953357442087 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



A teacher does actions which learners follow as directed and learners are not expected speak or produce language. What is this method
known as?

1. Imitation method

2. Total Physical Response

3. Dramatics
4. Communicative approach
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357442088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many languages are listed in 8t" Schedule of the Indian Constitution?
1. 22 languages
2. 18 languages
3. 26 languages

4, 1,179 languages
Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 953357442088 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

How many languages are listed in 8" Schedule of the Indian Constitution?
1. 22 languages
2. 18 languages
3. 26 languages

4, 1,179 languages
Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 953357442089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A classroom make the learners notice language through various means viz. on the wall, class library, audio and video. What should this be
described?

1 Language acquisition

2 Language comprehension

3. Input rich environment

4 Language practice through senses
Options :
1.1



2.2
3.3
4.4

Question Number : 109 Question Id : 953357442089 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A classroom make the learners notice language through various means viz. on the wall, class library, audio and videc. What should this be
described?

1 Language acquisition
2 Language comprehension
3. Input rich environment
4 Language practice through senses
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357442090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skimming a text means
1. reading for specific details
2. reading aloud the text

3. reading for information
4, reading for general meaning
Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 953357442090 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Skimming a text means
1. reading for specific details
2. reading aloud the text

3. reading for information

e

reading for general meaning
Options :

1.1

2.2

3.3

4.4

Question Number : 111 Question Id : 953357442091 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



‘Use of vocabulary, pronunciation and grammar” are
1. informal language inputs.
2. form oriented language inputs
3. meaning oriented language inputs
4. linguistics oriented language inputs
Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 953357442091 Question Type
Correct Marks : 1 Wrong Marks : 0
‘Use of vocabulary, pronunciation and grammar” are
1. informal language inputs.
2. form oriented language inputs
3. meaning oriented language inputs
4. linguistics oriented language inputs
Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 953357442092 Question Type
Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?

1. Words that we use in writing and speaking.

2. Words which we recognize when someone speaks.
3. Words which we notice while reading.

4. ‘Words which we do not understand.
Options :

1.1

2.2

3.3

4.4

Question Number : 112 Question Id : 953357442092 Question Type
Correct Marks : 1 Wrong Marks : 0

What is productive vocabulary?

1. Words that we use in writing and speaking.

2. Words which we recognize when someone speaks.
3. Words which we notice while reading.
4. Words which we do not understand.
Options :
1.1
2.2

3.3
4.4

Question Number : 113 Question Id : 953357442093 Question Type

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Procedural knowledge helps learners

1. learn the knowledge about language

2. learn the form first and use it later.

3. apply the rules of grammar in communication
4. master the rules of grammar of a language.
Options :

1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 953357442093 Question Type
Correct Marks : 1 Wrong Marks : 0

Procedural knowledge helps learners

1. learn the knowledge about language
2. learn the form first and use it later.
3. apply the rules of grammar in communication
4. master the rules of grammar of a language.
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357442094 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

: MCQ Option Shuffling : No Is Question Mandatory : No

Which approach to writing could be stated as learning to write by writing?

1. Product approach
2. Process approach to writing
3. Dictation

4. Summarising
Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 953357442094 Question Type
Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : No Is Question Mandatory : No

Which approach to writing could be stated as learning to write by writing?

1. Product approach
2. Process approach to writing
3. Dictation

4, Summarising
Options :
1.1
2.2
3.3



4.4

Question Number : 115 Question Id : 953357442095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is an extrapolative writing task?
1. Imagine you are the boy in the story write a letter to your friend describing your experience of the journey in which you met a
stranger.
2. Fill out the railway ticket reservation form to go to Nagpur.
3. Read the poem as many times as possible and write the summary of the poem.
4. Write the autobiography of a tree.
Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 953357442095 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Which of the following is an extrapolative writing task?
1. Imagine you are the boy in the story write a letter to your friend describing your experience of the journey in which you met a
stranger.
2. Fill out the railway ticket reservation form to go to Nagpur.
3. Read the poem as many times as possible and write the summary of the poem.
4. Write the autobiography of a tree.
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357442096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Embedding the pedagogy into the materials’ is
1. content validity of the materials

2. reliability of the materials

3. pedagogical understanding of the teacher

4. pedagogical realization of materials
Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 953357442096 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

‘Embedding the pedagogy into the materials’ is
1. content validity of the materials

2. reliability of the materials

3. pedagogical understanding of the teacher

4. pedagogical realization of materials



Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357442097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and later she picks up
one from each group and asks the group to converse as a whole class activity. What is she attempting to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency {CALP)
3. Discourse competency
4. Group Discussion
Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 953357442097 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher organizes the following activity every day.

Divides the class into groups of five and gives some day-to-day functions / themes for conversation in the groups and later she picks up
one from each group and asks the group to converse as a whole class activity. What is she attempting to promote?

1. Basic Interpersonal Communicative Skills (BICS)
2. Cognitively Advanced Language Proficiency (CALP)
3. Discourse competency
4 Group Discussion
Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 953357442098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assessments designed to monitor and improve students’ progress during the teaching-learning process.

1. Assessment of learners
2. Assessment for learning
3. Assessment of learning
4. Assessment as learning

Options :

1.1

2.2

3.3

4.4

Question Number : 118 Question Id : 953357442098 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Assessments designed to monitor and improve students’ progress during the teaching-learning process.

Assessment of learners

1
2. Assessment for learning
3. Assessment of learning
4,  Assessment as learning
Options :
1.1
2.2
3.3

4.4

Question Number : 119 Question Id : 953357442099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mational Education Policy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. asacompulsory language
3. an additional option
4. as asecond language
Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 953357442099 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Mational Education Pelicy 2020 recommends the study of classical languages as
1. alanguage within the three language formula
2. asacompulsory language
3. an additional option
4. as asecond language
Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 953357442100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
A teacher organizes her class into the pair and gives a story of 18 sentences. One of the pairs has odd sentences (sentences 1,3,5,....)
printed and other sentences blank while the other has even sentences (sentences 2,4,6,......) and odd sentences blanks. Students in pairs
have to read out the sentences mutually to each other and write to complete the story. This involves listening, speaking, reading and
writing. What is this task known as?
1. Mutual dictation
2. Group dictation
3. Sentence dictation
4. Paragraph dictation
Options :
1.1
2.2
3.3
4.4



Question Number : 120 Question Id : 953357442100 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher organizes her class into the pair and gives a story of 18 sentences. One of the pairs has odd sentences (sentences 1,3,5,....)

printed and other sentences blank while the other has even sentences (sentences 2,4,6

} and odd sentences blanks. Students in pairs

have to read out the sentences mutually to each other and write to complete the story. This involves listening, speaking, reading and

writing. What is this task known as?

1.
2
3:
4

Options :

1.1

2.2

3.3

4.4

Section Id :

Mutual dictation
Group dictation
Sentence dictation

Paragraph dictation

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :
Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Language 11

95335714030
4

Online
Mandatory
17

17

30

Yes

1
95335725440
Yes

Question Id : 953357442101 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



=1 i flRu MU i &l TR g 7Y
gﬁmmwaﬁﬁwaﬁ
Taeneiey <i- Y=t Arer-e1 t Hedl 3R
Ufaadl @ deg gl Tl $d-Gd fagR
R TS IR IR TS ¥ | did-6a d qUg
3R faererd - gu A | d g gl dfexi
R Wl U R g Y| 370 IRI B dlg
TR1&1D1 3R WARD| &b g+ &b (eTu AIHTa
ARG &1 g3 U1 39 Ryar S-S dHRf
3R fa2red Y=l § AH1 UbR & dgded 3d
oS §U Y| 117 earsil, dieyl, @dl, 3k
G D1 Yol Bl addhR vl gauH Ig Sild
| faenn Tifcl & fReR b &ld &d Y|
fa=Imerdr, Frasesdr, 3R guey & faar
Y reiel &1 fayfaerera ada Hil bt
UL SHTFHBIS Y D Frerdr-Serdr 4TI
fagfaenea & fagRi d oI3 cu golR g
faemf 3R 3¢ B9k 30U Igd ¥ | dhad
G 3R YR & T 3eud ¥ 39y
el g el YA Ierd et AT, o1
Hdls P dH U Bie 411 38 HgRS

STdTiGd = S99l AT SUH dg o gaeh
Ui 7Y ¥ | UTPTe H 51 o1 T e

G g1 bol BT ol

Sub questions

Question Number : 121 Question Id : 953357442102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T TaeTerd 5 TEAshIerd 1 AT FarT o

1. STt |

2. T TR J

3. fammfeea =

4. 315 Tagett 5

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357442103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e ferafaeem ¥ Swfsen g e oo o= ot
1. it firgati 3 fom

2.&@%@1&:&%%

3. T TETeTeRT o v=m & o

4. STFTERT 3 T

Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 953357442104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT gy T e o
| wft g o

2. FTFEwE fFafaa=a a

3. qafren GafemET o

4. Tazrmaferen faafaaem o

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357442105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T S ATH AT S =g 2

=28
1. o3 $HA
2. T ST HT
- -

3. TAT AT @A AT

4. STSTAT SR gteTar s
Options :
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 953357442106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T § T -
| ST
2. a1
3. wEdfE
4. TS
]
Options :

1.1
2.2



3.3
4.4

Question Number : 126 Question Id : 953357442107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

@WWWWWJ%
1. OTTe BT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357442108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. A=
2. IferTETeAt
3. fgm
4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357442109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

~m%‘rmﬁm‘g€a‘tmm§%
1. STEYT FE BT
ATHITIFOT 2
4. U BT
Options :
1.1
2.2

3.3
4.4

Question Id : 953357442101 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (121 to 128)
Question Label : Comprehension



=1 i flRu MU i &l TR g 7Y
gﬁmmwaﬁﬁwaﬁ
Taeneiey <i- Y=t Arer-e1 t Hedl 3R
Ufaadl @ deg gl Tl $d-Gd fagR
R TS IR IR TS ¥ | did-6a d qUg
3R faererd - gu A | d g gl dfexi
R Wl U R g Y| 370 IRI B dlg
TR1&1D1 3R WARD| &b g+ &b (eTu AIHTa
ARG &1 g3 U1 39 Ryar S-S dHRf
3R fa2red Y=l § AH1 UbR & dgded 3d
oS §U Y| 117 earsil, dieyl, @dl, 3k
G D1 Yol Bl addhR vl gauH Ig Sild
| faenn Tifcl & fReR b &ld &d Y|
fa=Imerdr, Frasesdr, 3R guey & faar
Y reiel &1 fayfaerera ada Hil bt
UL SHTFHBIS Y D Frerdr-Serdr 4TI
fagfaenea & fagRi d oI3 cu golR g
faemf 3R 3¢ B9k 30U Igd ¥ | dhad
G 3R YR & T 3eud ¥ 39y
el g el YA Ierd et AT, o1
Hdls P dH U Bie 411 38 HgRS

STdTiGd = S99l AT SUH dg o gaeh
Ui 7Y ¥ | UTPTe H 51 o1 T e

G g1 bol BT ol

Sub questions

Question Number : 121 Question Id : 953357442102 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T TaeTerd 5 TEAshIerd 1 AT FarT o

1. STt |

2. T TR J

3. fammfeea =

4. 315 Tagett 5

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 953357442103 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



e ferafaeem ¥ Swfsen g e oo o= ot
1. it firgati 3 fom

2.&@%@1&:&%%

3. T TETeTeRT o v=m & o

4. STFTERT 3 T

Options :

1.1

2.2

3.3
4.4

Question Number : 123 Question Id : 953357442104 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT gy T e o
| wft g o

2. FTFEwE fFafaa=a a

3. qafren GafemET o

4. Tazrmaferen faafaaem o

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 953357442105 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T FTHT FrereT gL =g 2

[
|. =T 9T
2. T S Sl
L -

3. AT 3T @e A

4. YT S qfasar
Options :
1.1
2.2

3.3
4.4

Question Number : 125 Question Id : 953357442106 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T § T -
| ST
2. a1
3. gEAE
4. TS
]
Options :

1.1
2.2



3.3
4.4

Question Number : 126 Question Id : 953357442107 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ﬁmﬁwww&%
1. OTTe BT

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 953357442108 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

1. A=
2. IferTETeAt
3. fgm
4. T

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 953357442109 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

~m%‘rmﬁm‘g€a‘tmm§%
1. STEYT FE BT
= : ° :\
4. ARy &
Options :
1.1
2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 95335725441
Question Shuffling Allowed : Yes

Question Id : 953357442110 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension



Trdor. <= fom o TerteT i U O T WAt % e SUIE I aret

TS % S AT T T A H S 0 &a: A 7 A
T T T T o T 5 T AT, ATy wed SAE s
TEAT B T AU AT T A T F AT AT FAT A E - ST
BT ST | SATCH T & FT, ¥4, §9r, e qo e v &
STHT 2| S9H ST 23 T Ud ST Rl Ug-Seqd Sl Sl
é‘m%%aﬁ'agw T 9T e S mwa‘:{ﬁﬁi?ﬁél AT
FRTeT BT TR w7 39 IE Well-witd SHeeT =hen B R
ST § o 39 ATHQATE UF HATeqa 1 &1 T2 1 =10

Sub questions

Question Number : 129 Question Id : 953357442111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A HTEA AR £ -
|. AT

2. 56 FFeq

3. 99

4. 99T

Options :

1.1

2.2

3.3
4.4

Question Number : 130 Question Id : 953357442112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT & A 0 2
3. o9, =1, W9,

4. 3T, 9T, =,
Options :

1.1

2.2

3.3
4.4

Question Number : 131 Question Id : 953357442113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T FTE T ST O St g1 e 2
| =E A

2.3

3.7

4. T T AT

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 953357442114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Tg. i o whTE B
| AT

3
2. FHIET

3.58

4. Tedvg
Options :

1.1

2.2

3.3

4.4

Question Number : 133 Question Id : 953357442115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T F EN-E=eE B

Question Number : 134 Question Id : 953357442116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e w168 T AT e T AT AR -
1. 31941

2. |t

3. Frfam

4. qrEem

Options :

1.1
2.2



3.3
4.4

Question Number : 135 Question Id : 953357442117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT S | FT STUTT ARl B-
|. =9 o faame

2 T =

3, ST

4. ATHE T =TT
Options :

1.1

2.2

3.3

4.4

Question Id : 953357442110 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (129 to 135)
Question Label : Comprehension

T2 i fou o Tt it U I® T WA F HEH S0 I8 AT

TS % ST AT € TS 9o J 3T 0 = B A A
T T T T o T 5 e, wfug e e a=
TEAT B| T ST 9T T ST 2T T AT T A € - ST
BT ST | AT & FIAA, 79, W9, e 72 e g e
ST 2| o ST 37 FE U4 STat H Ue-afer AT geT
éﬂ%%%*—tgw T T 3HE 3T mw?ﬁqﬁﬁﬁﬁ o4
TTeT BT ST 99 2| 39 TE WA l- 1T SHEeT SEs 5 e
0T T Wt I STTHISATE U SATeHeT Sl oI F8] AT =71

Sub questions

Question Number : 129 Question Id : 953357442111 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

=T T TR -

. ATt

2. 56 FFeq

389

4979
Options :
1.1
2.2
3.3



4.4

Question Number : 130 Question Id : 953357442112 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR & I 7 A B
4. 3T, W, =
Options :

1.1

2.2

3.3
4.4

[ —

]

Question Number : 131 Question Id : 953357442113 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TS T F S T T e R
| = E qgE

2. 3T

3.

4. BT T

Options :

1.1

2.2

3.3
4.4

Question Number : 132 Question Id : 953357442114 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ug. gt o wOTE B
|. %S

3
2. FEHIET

3.858
4. AFTHET

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 953357442115 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



g FEY-T=e B

Har+ud

3 ]

T

HE+TF
T+
T+

a

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 953357442116 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e ITe8 T AT TeIT T I AR -
1. STET

2. grar

3. e

4. QT

Options :

1.1

2.2

3.3
4.4

Question Number : 135 Question Id : 953357442117 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT S | FT STUTT ARl B-
|. =9 o faame

2 T =

3, ST

4. ATHE T =TT
Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 95335725442

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 953357442118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T forer ifa F FeaTT F THEd T 2
3. Wt ferammeret faren F STf v e & w0 |
4. AR/ 3h1 ST, STRATT WS, ST WA W a4 fesft s



Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 953357442118 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T e i % TG Fl TS FAT 2

2. FIGHTST, SIS, TS i AT, HEFA, T, T, TAT SHSATT 747 DIE-DIS THEET H qreit J FIet S|
3. W foraTe e F S v 27eE % w0 |

4. AT/ 3T TS, STFATT W9, ST WA ST a4 feeft o)

Options :

1.1

2.2

3.3
4.4

Question Number : 137 Question Id : 953357442119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE S S0 HIAT-UeT o WY TR ¥ qw WAt € a9 fowe 5 T, e, qur st @t € a9t
T T T & o7u o & Tt AT s = | w2

Y JET Tge i e =Y F FitiT

1. TST 37

2. {TST T

3. FERT ST

4. gftpea fraeT

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 953357442119 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TE S 270 WA 3 WY R ® qas oAt # qun 9w fowe # T, e, qur St gt # a9 o1
TS TA faraer 3 e fot & Tt e wee o= § W 2

9 ST ERE o e = F atre e

. HTHT 27

2. WTST AT

3. FERT ST

4. gframegT e

Options :
1.1
2.2
3.3



4.4

Question Number : 138 Question Id : 953357442120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Torelt Tereareff it ver UTaT AT OB WG F0 Seha (e © 911 39 27 TEW 6 Wi 7 7eE A ©f| 9 e ww
ST ST 27

1. T g | e

2. TR | UET

3, T T

4. T WA

Options :

1.1

2.2

3.3
4.4

Question Number : 138 Question Id : 953357442120 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Toreft famereff =t wap UTgE W vad WY i:%bi;hd TeTe 2 511 39 7Y TR R UERAT B qee i 2| aE R wu
SR ST 27

. TTE B ueT

2. TR T TeAT

3. 37T Heha

4. T WA

Options :

1.1

2.2

3.3
4.4

Question Number : 139 Question Id : 953357442121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

o < for Tifera & e Tarem werer, ST = e ST S o wri foee w2
2. =1 % T o

3. ST orT SR

4. AT

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 953357442121 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



a0 1 TR TR 7 e o S, ST e e SR REa T 9 AR fone At 82
.W%%'r{m
4. AT

Options :
1.1
2.2
3.3
4.4

(]

T

Question Number : 140 Question Id : 953357442122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HaTd, TRt farsreo, R % B o Frie 2 T
1. forweeg % weR

2. P vTeE

3. fafesra wree-du=T

4. BRI TToE-FUaT
Options :

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 953357442122 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

s, St e, G- faso % &0 J Fifiera fmm o F
1. T & v

2. TFT e

3. Tfeer sTez_wuaT

4. TfHT TTeg-TuaT
Options :

1.1

2.2

3.3

4.4

Question Number : 141 Question Id : 953357442123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

FTEATSAT o & H [9, F97 76 19T 31T 510 1019 T F Rt -
| STETatiE 3 2

2. STISUITHeF 34 2

3. SATHT SIS T3 2

4. ST TR 2|

Options :
1.1



2.2
3.3
4.4

Question Number : 141 Question Id : 953357442123 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

HT=ATAT % & H J9, T97T 76 19T 30T 510 1019 T F Rt -
1. et 39 2|

2. SISO 34 2

3. SHTR] \?dgdrq Hrpheu%I

4. ¥TST TiETT 2
Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 953357442124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TR AT T HE W U O F A #
|. SATEET U3 |EUT
2.\l e
W o o
3. U T o TR T i T |
4. SITHTTOTR U2 |THT
Options :
1.1
2.2

3.3
4.4

Question Number : 142 Question Id : 953357442124 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TR ST § w5 o UaT it v a #
1. SATEET U3 |

2. Aifefeas

3. UT3T T % eREhl T Toshied 3 S
4. T U3 ST

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 953357442125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



Frfeafias O & #1997 9TST ST % TR § TE 27
|, feretferat i su=Atew|

2. TTeaTifaT = SATRITF T T AT FT

3. Tementefa it waeft fgorar s s w|

4. 7% T T T Srearfelat 1 w2 78 e 2
Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 953357442125 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

ATeAREs o & FI9 |7 WIST AT &% §1 § 7257 27
1. feeterat it su=iten|

2. Tareariefat = ST T T AT AT

3. Tementeda ot st fgorar s s w|

4. 7% AT T 125 frearieiat =t o 7 smar 2
Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 953357442126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TrATeTas = ® 1= 1 9IS 3 FHe1 F JA1 F =wg F 76 22

1. feat vt qan v 21 % fomm Wi % & o1 e 3
2. Terameff st <77 =1 ST et 2 et o et A i g =y
3. et et v 3 fom s o & 3

4. Ftat Faefra T = T TS F AT i EH O

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 953357442126 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Treferfian = & &1 | w7 it e F qfeat % fawa T w22

1. Sfeat fevetera am foversh o % form wige % & A e
2. Tomeeff star v =6 T A © A % A Afet o g =y
3. Jfeat A e 3 form e 5 @ #

4. Ffat faefra T S T 9T F AL G O

Options :
1.1



2.2
3.3
4.4

Question Number : 145 Question Id : 953357442127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T W f¥TeTe WIS T o Wt o Wy e e i it e W e 7 a2
ToreTteat 1 39 fawa w frar fores o Uit 5aw w5 & o, Sreierh o s Oeen T Stoer, e,
TR, T TSI & FaTem 37 Toen 741 s 1 UeT 2|
Waﬁﬂmﬁﬂ%’qulwhrﬁmm%’

| . ST fas & TS

2. AT T i uew %

3. WO A=l F AT

4. T9T =G =

Options :

1.1

2.2

3.3
4.4

Question Number : 145 Question Id : 953357442127 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T T ToTeTeR WIS TR % e Wy e 9 i Hiea [SEear W a6 o 8/ 8
Treiiia =t 3 ferwey o o forart e e S e % Torm wventoren T o o e stoera, s,
TR, AT TSI & Fa e 27 Teen 741 T 1 e 2|

T srforr B 7 e e

| . FTETTSTeR- T & W

2. FrETreeF s # ves

3.@@?@?&1‘%%

4, ST =@ T T

Options :

1.1

2.2

3.3
4.4

Question Number : 146 Question Id : 953357442128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T Tremeff 7 e Ul A HiEe T UEe § HE g ST 0T e S SR S/ 8] 39 ST
TeFATF T T 2T I

2. SRS FiwaT (T FAATE o)
3. ST ST SArerTT

4. FEFIEAS A

Options :

1.1



2.2
3.3
4.4

Question Number : 146 Question Id : 953357442128 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e FeTaATeff A0 ST v U1 1 EEd 99T Tee § W 50 ST U HEET ) AT S/ A o] 39 $Arem
e TR 1 ST ShET STET?

2. HETEITEE qrraT (T ST )

3. STTHI ST ST

4. FEATTIETS AT

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 953357442129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e TRTaTefl W7 FHE 3 WY U e W 1 9% T £ TE IS WIHH 1 L ST AE UG Wi & T
FTITET FTE T AT T WS FT AEEAT F FAT 2| rar- et w aw evea B |

. ST

2.

3. e foeET

4, UftEmegT Fa

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 953357442129 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e fareref? Sfea @t o WY U Ta W B UE T € 9% USH @I bl 9Ed S0 AN U Ul § a1
ATETET 1D T Y T WS T TEEAT F FAT 2| rawr-aiferm v aE avea B |

1. FRit=m

2.

3. FENT e

4, UftEmegeT Fa

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357442130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

TE T S e 6 vreat i SHET & g, 374 e won v e+ wera g,
| . ST HIES § TEI9OTeHF S 2

2. o7 TRV A I AT Wy S o 2

3. ST HE % T ST i 2

4. AT ST HRET 2

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 953357442130 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

e e < v o e B ST & e, 6 e e e e e e, |
| . SITH HIES § TEI9OTeH S 2

2. 37 TRV F & Torm ey e e 2

3. ST H1E 3 o0 ST e 2

4. FTETTEF ST SRET 2

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357442131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ffafiga o § S o S §ET o ‘H&dﬂdlﬁ‘ﬁﬁ{%@ JreAT O 22

| SATSHIIOTER SRTEAT i 797 1 T T AT ST T B § TN FA o [0 SR-A 27T 1)

2. SATEH/TH] 1 W H T AT (TS 6 W= H A & ST % 3 T S 341 A8 F I N
THe Tt i ot e

3. ST T TS SR GRAer] § ST 3 e 1 e ST S Rt i 8 F 3 [, o7
F13 &1

4. ST W TS A TS AT ST Forwlt FAT | o S § SR A 31 Wi S

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 953357442131 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0



T=eafaa = & 17 o ST HiEH 5 F=a=al 7 ghs e ael WHIA 82

| SATHIIOTER RIS i (797 1 0 T AT ST T B H T Fi o 170 SE-A 27T 1]

2. SATHIU/ATST T HEH F T FOAT RIATET 5 F H 1 F AN F0 % I S 71 &€ 3701 2=
T et 1 27 e

3. ST T SUAT ST Qs | ST 3 (HaR1 1 T FOA1 A RT3 56 T 6 10, ST
T & T

4. ST F S T S W AT TR FAT F oI S 7 ST e g Hie =

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 953357442132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

T % g9 % =9 § =EERE F fagw

| S0 TR 07 3 WTegg ¥ 7 9 WIH F 5
2. TST TE=ATeeF 3TYTH 3 31T §1ET o4t 2

3. gt forareff ve 2t a= ¥ Hiwa B

4. =1 3T U3 T W SIS | o

Options :

1.1

2.2

3.3
4.4

Question Number : 150 Question Id : 953357442132 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT % TS & &9 5 =HE1E F 999 2

T FHATR TS0 3 WTegg ¥ A I UE w4 B
2. WTST FT=TeTe STETH & ZRT §ET ST 2

3. T faremeff wep & o w g 2

4. T2 30 03 T § SIS HEd 2

Options :

1.1

2.2

3.3
4.4

f—




